
Let F (x) =

∫ x

1
f (t) dt where f (t) is the function graphed below.

1. Where is F increasing?
decreasing?

2. Where does F have a local
max? a local min?

3. Is F concave up or
concave down at x = 3?

4. Determine if the following
values are positive or
negative:

F (3) F (4) F (0) F (1)

43

x

2 510 6 87

T. Ratliff (Wheaton College) Math 104 Calculus II February 1, 2010 1 / 2



Evaluate the following integrals

1.

∫ π/2

0
sin(3x) dx

2.

∫ 4

1
x3 − ex − 2 dx

3.

∫ 3

1
3x2 ln(x) + x3

(
1

x

)
dx

4.

∫ 5

0
2x sin(x2) dx

5.

∫ 5

0
sin(x2) dx
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